10-2 Exploring Quadratic Graphs
	Josh throws a ball into the air with an initial upward velocity of 48 ft/second.  Its height h, in feet after t seconds is given by the function h = -16t2 + 48t + 4. 

What does the 48 represent in the equation?
_________________________________

What does the t represent? 

__________________________________
What is the y-intercept and what does it represent. 

_________________________________

	Ahmed tosses Kamal’s notebook into the air with an upward velocity of 40 feet/second.   Its height h, in feet after t seconds is given by the function h = -16t2 + 40t + 6. 
What does the 40 represent in the equation?

_________________________________

What does the h represent? 

__________________________________
What is the y-intercept and what does it represent. 

________________________________
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What does the 40 represent in the equation?

_________________________________

What does the h represent? 

__________________________________
What is the y-intercept and what does it represent. 

_________________________________

	Samir and Mahdi are hiking in the mountains. 

Mahdi wants to climb to a ledge that is 20 ft above him. The height of the grappling hook he throws is given by the function  

h = –16t2 + 32t + 5. 

What does the t represent in the equation?

_________________________________

What does the h represent? 

__________________________________

What is the y-intercept and what does it represent. 

_________________________________


	
	

	
	

	
	


